
don0.trs
TRS= ZPARTRS Z390 PROGRAM ANALYSIS REPORT TRACE SOURCE V1.5.01b 10/28/09
TRS= SYSPARM=cics\DON0+include(testgui6)+noasm+nomsg+notime
TRS= PARM(1)=cics\DON0
TRS= PARM(2)=include(testgui6)
TRS= PARM(3)=noasm
TRS= PARM(4)=nomsg
TRS= PARM(5)=notime
TRS= CURRENT DATE=10/28/09 TIME=12.59
ECA=TESTGUI6 EXEC CICS,SEND,FROM(TITLE),LENGTH(LTITLELN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(PROMPT),LENGTH(PROMPTLN)
ECA=TESTGUI6 EXEC CICS,RECEIVE,INTO(INPUT),LENGTH(RECLEN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(SHOW_NAME),LENGTH(NAMELEN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(SHOW_ADDR),LENGTH(ADDRLEN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(SHOW_ZIP),LENGTH(ZIPLEN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(PROMPT),LENGTH(PROMPTLN)
ECA=TESTGUI6 EXEC CICS,RECEIVE,INTO(INPUT),LENGTH(RECLEN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(TITLE),LENGTH(LTITLELN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(PROMPT),LENGTH(PROMPTLN)
ECA=TESTGUI6 EXEC CICS,RECEIVE,INTO(INPUT),LENGTH(RECLEN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(TITLE),LENGTH(LTITLELN)
ECA=TESTGUI6 EXEC CICS,SEND,FROM(PROMPT),LENGTH(PROMPTLN)
ECA=TESTGUI6 EXEC CICS,RECEIVE,INTO(INPUT),LENGTH(RECLEN)
ECA=TESTGUI6 EXEC CICS,RETURN
TRS= INPUT   FILES   LST=8 PRN INC=1 PRN EXC=51
TRS= INPUT   RECORDS TRE=16943 LST=377 PRN=1993
TRS= LOADED  SOURCE  CBL=0 ECC=0 ASM=420 ECA=12
TRS= SKIPPED RECORDS ASM=427 MSG=593
TRS= OUTPUT  RECORDS CBL=0 ECC=0 ASM=0 ECA=15
TRS= OUTPUT  RECORDS ERR=0 MSG=69 TRS=29
TRS= TOTAL MNOTE ERRORS=0  MAX RETURN CODE=0
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